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**BE SURE TO WRITE IN COMPLETE SENTECES AND EXPLAIN

YOUR ANSWERS.
RISING ACTION #1: EXPLAIN HOW IT IS BEGINNING THE MAIN CONFLICT AND
SUPPORT YOUR ANSWER WITH EVIDENCE FROM THE TEXT (QUOTE/PARAPHRASE)

RISING ACTION #2: EXPLAIN HOW IT'S AN EXAMPLE Of THE MAIN CON¥LICT
_AND SUPPORT YOUR ANSWER WITH EVIDENCE FROM THE TEXT

RISING ACTION #3: EXPLAIN HOW IT'S AN EXAMPLE OF THE MAIN_CONFLICT

_AND SUPPORT YOUR ANSWER WITH EVIDENCE FROM THE TEXT

CLIMAX: EXPLAIN HOW IT SOLVES THE MAIN CONFLICT AND SUPPORT YOUR
ANSWER WITH EVIDENCE FROM THE TEXT
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